
SAMPLE QUESTION FOR 
 

 EDUCATION 
 

CLASS-XI 
 
 

ASSERTION (A) REASON (R): 
     
      In the following questions, a statement of Assertion (A) is followed by a statement of Reason (R) 
choose the correct option. 
 
 1. Assertion (A)                                                                                                                                          
            Informal education provides a more personalized learning experience than formal education. 
       Reason (R) 
 

Informal education is spontaneous and free from all sorts of authoritative control allowing 
individual to learn at their own pace and convenience from their environment and life 
experiences. 

      
Options 
  A. Both Assertion (A) and Reason (R) are true and Reason (R) is the correct  
         explanation of Assertion (A).    
   

  B.  Both Assertion (A) and Reason (R) are true but Reason (R) is not the correct 
         explanation of Assertion (A). 
 

  C.  Assertion (A) is true, but Reason (R) is false. 
 

  D.  Assertion (A) is false, but Reason (R) is true. 
 
 2.  Assertion (A)                                                                                                                                 1    
        Vocational aim makes man’s outlook dynamic and comparatively new. 
      Reason (R) 
        Vocational aim of education should train our children for future economic 
         responsible and self-sufficient in life.  
     
Options 
  A.  Both Assertion (A) and Reason (R) are true and Reason (R) is the correct  
         explanation of the Assertion (A). 
 

  B. Both Assertion (A) and Reason (R) are true but Reason (R) is not the correct 
        explanation of the Assertion (A).   
 

  C.  Assertion (A) is false, but Reason (R) is true. 
 

  D. Assertion (A) is true, but Reason (R) is false. 
 
 
 
 
 

 
 



 
 
 
 
 
SOURCE BASED QUESTION:  
         
     Read the passage carefully and answer the questions that follow:                                                   4x1=4       
 
         Teacher is solely responsible for the total development of personality of the child, he should make 
the educational plan so that the child can learn through direct experience. Teacher should actively frame 
the curriculum and organise the co-curricular activities for total development of the child’s physical, 
mental, intellectual, social and moral. He should help and guide the child in acquering experiences on 
purely activity and psychological basis. According to Comenious “Education is child gardening. The 
function of a teacher is somewhat like that of a gardener”. 
 
 (i)   Which one of the chief characteristic of good teaching?                                      1 
 

         A.   To provide Auto-learning conditions 
         B.   To make effective planning 
         C.   To promote democratic principles 
         D.   All the above. 
 
 (ii)   Which one of the following is associated with this statement?                          
    “Education is child gardening. The function of a teacher is somewhat  
      like that of a gardener”.   1        
 

         A.   John Dewey 
         B.   Comenius 
         C.   Plato 
         D.  Pestalozzi. 
 

 (iii)   Why a teacher called as a guide to students?                                                       1      

 (iv)   Write one role of a teacher as a facilitator in the field of education.              1  

                    
 
          
 
 
 
 
 
 
 
 
 
 
 

 
 
 



 


